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OR
information (8)

oan mal<e either of two investments at period to. Assuming a required rate

of return of !0o/o, determine for each project:

(a) the pay back Period, (b) the discounted paY back Period,

theC

Q.2 D Treasury bonds carty To/ointerest. Beta factor for t\e company.may be taken at

1 . 1 5 . The long run market rate of return taken at 1 5 .5 Calculate cost of equity by GAPM (7)

Q.3 A companY

fi and You

OR
A company is considering two mutually exclusive projects. Estimated life 5 years

is 8%. The initial cost of X is Rs. 40,00,000
Q.3 C
and cost of

You are required to evaluate the project using NPV

a 3 D Shailesh ComPanY

Estimated life Years, tax rate

Ltd. has invested in a machine at cost of Rs' 10,00,000'

on SLM. Calculate Period

(8)

(7)

35o/o of CaPital
25%
Rs. 100 Lakhs
1:3

19%

Employed

l2%

EBIT
Tax
Capital EmPloYed

Cost of Debt (After Tax)
Equity Ratio

Cost of

2,80,000 .

5 years

Rs.

Rs. i0,000
Rs. 12,000
Rs. 18,000

Rs. 25,000
Rs.

2,00,000
5 years

Rs.

Rs.25,000
Rs. 15,000
Rs. 10,000

Nil
Rs. 1

Expected life (no salvage)

Projectednetincomelaterdepreciation,interestandtaxes)

J

4
5

Cost of investment (Rs.)

Yeal
1

Project XYear
-,oo,oool
16,00,0001
18,00,000
15,00,000
4,00, 000

1

2
aJ

4
5

Profit before depreciationYear
4.00.0001

6,00,0002

4.00.000J

4
4 50 0005
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5.00.000
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Fo are the three P td. and R Ltd.

calculate the value of a equity share for each of company applying walter's model when dividend
payout ratio (D/P ratio) is (1) 50% (11) 75%. (1s)

OR
Q.4 A From the following data, calculate the MARKET PRICE of a share of LSK Ltd.,
under (i) Walter's Formula; and (ii) Dividend growth model.
EPS : Rs. 150 DPS : Rs.90 Ke:20Yo r:30Yo Retention ratio: 55o/o (g)

.4 Calculate overall cost of

The after
Eamings

Q.5 A. Classify The Sources of Finance according to Ownership
B. Distinguish Between Lease Finance & Hire purchase Finance

OR

Q.5 Short Note (any 3)
Public Finance
Right Issue of Shares
Types of Risk
Advantage of Pay Back Period
Commercial Paper

tax cost of different sources of finance are Equity Share capitarT4%, Retained
73o/o,Preference Shares 10% and Debentures. 5oZ

(1s)

(7)

(8)
(7)

1

2

J

4

5

f

Particulars P Ltd. R Ltd.
Intemal rate of returr ts% s% t0%
Cost of Equity t0% 10% t0%
Earnings per share Rs.8 Rs.8 Rs.8

Source Book Value
Equity shares of Rs. 10 each
Retained Earnings
Preference Share Capital
Debenfures

4,50,000
1,50,000
1,00,000
3,00,000
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Q Ltd.


